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R= 30 mL= 5,21 mt= 1,46 my= 0,13 mš= 1,0 m

R= 100 mL= 6,59 m t= 11,69 my= 0,05 mš= 0,0 m

R= 50 mL= 4,63 mt= 4,34 my= 0,05 m
š= 0,6 m

R= 50 mL= 3,90 mt= 1,94 my= 0,19 m
š= 0,6 m

R= 50 m
L= 8,78 m
t= 4,86 m
y= 0,19 m
š= 0,6 m

R= 100 m
L= 11,16 m
t= 5,83 m
y= 0,16 m
š= 0,0 m

R= 50 m
L= 4,79 mt= 2,43 my= 0,06 m

š= 0,6 m R= 500 m
L= 3,9 m
t= 9,69 m
y= 0,01 m
š= 0,0 m

R= 100 m
L= 12,77 m
t= 1,94 m
y= 0,12 m
š= 0,0 m

R= 100 m
L= 3,7 m
t= 1,94 m
y= 0,12 m
š= 0,0 m

R= 100 m
L= 7,29 m
t= 3,88 m
y=  0,07 m
š= 0,0 m

R= 100 m
L= 3,68 m
t= 1,94 m
y= 0,02 m
š= 0,0 m


